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@D 53.436 x 10 = 5343.6
® 12.49x0.01 = 1.249

B 124.9 x 0.001 = 0.1249
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@ 534.36 x 100 = 534360

@ 12.49x 0.1 =0.1249
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@D 5.93 x 1000 = 5930 @ 4.5 x 10000 = 45000
@ 70.4x0.001 = 0.704 @ 150x0.01 =15

® 324x%0.1=324
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D 2x02=14 @ 3x0.03=0.9
® 5x0.005 = 0.025 @ 2.3 %0.002 = 0.046

B 4.5x%0.003 = 0.135



@ 4.3421 x 100 = 43.421
® 28.67x0.1 = 2.867

B 286.7 % 0.01 = 0.2867

g I2A L,

@ 43.421 x 1000 = 4342.1

@ 28.67 x 0.001 = 2.867
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D 38.9x4.9 = 190.61 @ 3.89%0.49 = 19.061
® 0.389 x 49 = 19.061 @ 3.89%4.9 = 19.061

® 0.389 x 0.49 = 0.19061
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@® 0.46 x 39

@ 46 % 0.39
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@ 046x3.9

® 0.46 % 0.39
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® 628 x0.01 @ 6.28x 10 @ 0.628 x 10

@ 62.8%0.1 3 6280 x 0.001



